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‘The diagram below shows part of the graph of y = 4 = (x = 2.
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(a) Write down the values of x where y = 0.
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#Fsavemyexams

4-(x-2R=dx—xt

3L ap
1 ocea F R= T o“‘ts

() Evaluate

INCEEor

21

(d) Write down the area of the region labelled R.
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The diagram below shows part of the graph of y = x? — 4x + 3.
Find the area of the shaded region labelled R,

S’(ﬁwﬂﬂ)éx
' el . 3
{%w»éfsx]

3
y=x*—4x+3 = [% Xaf /Lo(i -+ 3;(} .

0 1'3 H £ R 1@]1*'3(3\)—(3—@)1,1(1)1*3(1))
Areo ¥ "\.N . :QKGS” . 1(/5
o *—C\js I g =O-35 "3
wse ";_/__'L PES .
WAey Voo T R:\’%l:”(’%>=§

Pow«-; i X L,Tz;rof‘";-m ¥g.—.«a‘me 2

ary afea 5" R = —1%’ U"‘:’:S

" X

Sx Ax:m1 +c Skix:}(x*rc
(n#¢-1) (k35 o consionT)





image8.png
(a) Find the x-coordinates of the intercepts of the line with equation y = 2 and the
curve with equation y = x? — 4x + 5.

(b) Evaluate

[t —ax+5)dx

(c) The diagram below shows the graphs of y =2 and y =
Find the exact area of the shaded region R.
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(a) Find the x-coordinates of the intercepts of the line with equation y = 2 and the
curve with equation y = x? — 4x +5,
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(b) Evaluate
[t —ax+5)dx
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(<) The diagram below shows the graphs of y = 2 and y = x? — 4x + 5.
Find the exact area of the shaded region R.
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(a) Find the x-coordinates of the intercepts of the line with equation y = 2 and the
curve with equation y = x? — 4x + 5.
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‘The diagram below shows the graphs of the line y = 6 — x and the curve y = 27,
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(a) Work out the x-coordinates of the points labelled P,  and R.
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(b) Work out the area of the shaded region.
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‘The diagram below shows the graphs of the line y = 6 — x and the curve y = x.

(a) Work out the x-coordinates of the points labelled P, @ and R.

(b) Work out the area of the shaded region.
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‘The diagram below shows a sketch of the curves with equations

2

y= 3x+4 and y=4-x'+2x

(a) Find the x-coordinates of the intersections of the two graphs.

(b) Show that the area of the shaded region labelled R is given by
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(¢) Use calculus to find the area of the shaded region labelled R.
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‘The diagram below shows a sketch of the curves with equations

y=x*-3x+4 and y=4-x'+2x

(a) Find the x-coordinates of the intersections of the two graphs.
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(b) Show that the area of the shaded region labelled R is given by
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(¢) Use calculus to find the area of the shaded region labelled R.
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‘The diagram below shows a sketch of the curves with equations
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Use the two diagrams below to show how rectangles can be used to give an upper and
lower bound when estimating the area under a curve using the trapezium rule.
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A student is estimating the area bounded by the curve y = f(x), the x-axis and the lines

x=aandx=b. Y

‘The student intends to find the area of two rectangles of equal width in order to
estimate the area as shown in the diagram below.
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By drawing a sketch, show how the student’s estimate of the area can be improved

while still using rectangles of equal width.
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e diagram below shows the graph with equationy = 4.

The shaded area i o be estimated using the trapezium rule where H = 2.

(a) (i) Write down the number of strips to be used.
(i) Write down the number of ordinates to be used.

(if) Complete the table o values fo y = V& + 4, giving values tothree signifcant

figures where appropriate.
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(c) State, with a reason, whether your answer to part (b) is an overestimate or an
underestimate.
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‘The diagram below shows the graph with equation y = V& + 4.

The shaded are s to be estimated using the trapezium rule where h = 2.

() ) Write dovn the number of stips to be used.
(i) Write down the number of orinates o be used.
(if) Complete the table o values fo y = V& + 4, giving values tothree significant
figures where appropriate.
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(5) Use the trapezium rule with all the values from the table above to find an estimate of
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(c) State, with a reason, whether your answer to part (b) is an overestimate or an
underestimate.
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The diagram below shows the graph with equation y = Vi + 4.
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‘The trapezium rule is to be used to estimate the integral
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i) By finding the exact value of the integral above, find the percentage error of
your estimate from part (a).

(b)
ii) Explain how you could increase the accuracy of your trapezium rule estimate.
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The trapezium rule s to be used to estimate the integral Ip) FIND DEFINITE INTECRIPL
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Evaluate
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‘The diagram below shows part of the graph of y = 4 — (x — 2)".

() Write down the values of x where y = 0.

(b) Show that

4- (-2 =ax—x"

(¢) Evaluate

I (x—a)dx

(d) Write down the area of the region labelled K.
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‘The diagram below shows part of the graph of y = 4 = (x = 2)°.

(a) Write down the values of x where y = 0.

(b) Show that

A-G-2r=ax-x?

(¢) Bvaluate

I Gx—a®)dx

(d) Write down the area of the region labelled R.
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‘The diagram below shows part of the graph of y = 4 = (x = 2)°.

(a) Write down the values of x where y = 0.

(b) Show that

A-G-2r=ax-x?

(¢) Bvaluate

I Gx—a®)dx

(d) Write down the area of the region labelled R.

8]

121

n

Fsavemyexams

Powees oF x :xrgjm’ri.,.\ Focmeloe

P —

SX"AX:::‘ *c S&Jx:)(x*rc
#-1) (K 4 o consladt )
S‘: (‘{x—xl)ix
2 ki A
{4%—%]1
:[27&”‘? 1}‘, .
(265 ) - (2 6) -5 Y
= (- /—> -0

3

z

&)

Nn

o1

»





